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M EHAS L
B Nriolz s(LUBBUD/AUHE)
ol BOIHE A CER-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
Os&dH &3 70,900
—NSstM 650,000 x 13 *23| 16,900
— Hsr M 1,000,000& 27 x23| 54,000
09 dAAHEANZS 6,500 2,000 4,500
= 0l & 6,500 2,000 4,500
O & & 2 AFIHA B4
10,000& * 100 23| 2,000
OsZ gs/A3as oA =4l
4,500,000& 4,500
11 JIEtE &3 265,020 242,452 22,568
= Ol & 265,020 242,452 22,568
ORgUHsMHE 29 265,020
—-JIE2= 58,000 x70H x23| 25 203,000
= 58,000% x70YH *23| x5 40,600
— XY 58,000 x70Y »23| x 1 8,120
— W SH| 3,000& *709H %23 x25 10,500
— 23tAld g8 S 20,000 x70H *23| 2,800
307 gIztold 62,152 75,250 A 13,098
02 QUAHABMASEX 50,632 65,450 AN 14,818
= Off & 47,632 65,450 A17,818
OxEE 2IAME2A3 AHSHI
47,632,000& 47,632
=313 ( 50,632) 47,632)| ( 3,000)
Ox=8s 2AAE2AG At
50,632,000& |( 50,632) 47,632)| ( 3,000)
03 QIAHMBER2IHES 11,000 9,800 1,200
= 0l &F 11,000 9,800 1,200
OCU=EE 2EHEANE2AS 22|
11,000,000& 11,000
06 283 520 0 520
= 0l & 520 0 520
OS& M2 Jtbl 500& *1,040H 520
FOXXMH 435 XA 162,500 52,200 110,300
201 EtI| 145,400 40,000 105,400
01 At 2teltl 145,400 35,000 110,400
= 0l & 145,400 35,000 110,400
O=2Xx 23 XA 122,400,000 122,400
ONdI=0XXHS3 &E35X2HI
5,000,000& 401 = 20,000




SN
X ZH -
L=

el

ra

40
]
%

OH OH
S(BH) - NSNS - BE= (2;'2;:;) @(ijlE,g‘”lﬁﬁ =2
2S0te] 2 UE =
3,000,000& x 1 = 3,000
2,000 0 2,000
&gl 2,000 0 2,000
2,000 0 2,000
&l 2,000,000& 2,000
2,000 2,000 0
2,000 2,000 0
2,000 2,000 0
ety 25 | ol
250,000 x2H x4l =S 2,000
13,100 10,200 2,900
13,100 10,200 2,900
13,100 10,200 2,900
A3 B AIMNS 3,100
500,000& *2 = 1,000
300,000& *3H = 900
200,000& *6JH = 1,200
SEI AMAZ 10,000
2,000,000& *2H = 4,000
1,000,000& *3 = 3,000
500,000& 61 = 3,000
3,000 0 3,000
= 900
Al 2,100
3,000 0 3,000
== 900
Al 2,100
HAI2 S 3,000 0 3,000
o= 900
Al 2,100
=& 3,000) 0) 3,000)
o 900) 0) 900)
(Al 2,100) 0) 2,100)
& X3 3,000,000& 3,000) 0) 3,000)
= 900) 0) 900)
(Al 2,100) 0) 2,100)
=l 61,720 39,817 21,903




A BEHAS D
B Nriolz s(LUBBUD/AUHE)
Ehol: MOHE 4 CERT
SN HE B (BA) - MEAY - BHAS o @(ijf;ﬁ% HRE2
201 282 AH| 51,120 20,847 30,273
03 SAI2EH| 51,120 0 51,120
= 0l & 63, 120 0 63,120
OF0IXX d2s = 30,000,000& 30,000
OF0XNXNPS &8s F2AS
600, 000& *36 0 = *13] 21,600
O&= FOXX RS AS
80,000& *4H +36 0l = 11,520
=213 ( 51,120) | ( 63, 120)| ( A 12,000)
OF0XNXPS &8s /2SS 9,600,000& |( 9,600) | ( 21,600) | ( A 12,000)
301 ot A= 10,600 16,820 NG,220
09 EAAHIEAZ 10,600 15,620 A5,020
= 0l & 14,400 15,620 N 1,220
OF0XNXNAAA & K225 FIA =4AH|
200,000& *36M = 7,200
O&=2 FOXX RS AS HILA =4AH|
50,000& *4H +36 0l = 7,200
=313 ( 10,600) | ( 14,400) | ( A3,800)
OF0XNXNAAY & K225 A =4AH|
3,400,0002 |( 3,400) | ( 7,200) | ( A 3,800)
FOXXEE)H 2 14,450 177,505 A 163,055
201 282 A Y| 9,350 126, 100 AN 116,750
03 SAI2HH| 9,350 0 9,350
= 0l & 9,350 0 9,350
OFUXX 202l HHUS 9,350
— 20t ZHUI 29H| 9,000
- 204 XYl 7,000,000& 7,000
=gl 1,000,000& 1,000
- M&Hl 1,000,000& 1,000
— 22=S0tel ZAHUS & AHYI 350
cJl2 70,000& x5 350
301 ot A= 5,100 48,105 A 43,005
11 JIEIE A2 5,100 7,400 A 2,300
= 0l & 5,100 7,400 A 2,300
OF0IXX =0t AU 5,100
—2=S0tel BHUI A2 5,100
xR 1,000,000& *10 = 1,000
- R 700,000 *x20 = 1,400
- & 500,000& *3H = 1,500




SN BHASD
HE: A A (UNTBUE /L)
S TOHE A (29 &2)
SA BB (AH) - HBAY - BA= o) ) HDE 2
| | [ 300,0002 x4 = 1,200
S&UsHE =& 6,060 6,060 0
201  etg| 3,900 3,900 0
01 At 22t 3,900 3,900 0
= 0l & 3,900 3,900 0
OANEHZES 2 5 L& 24| 900,000& 900
Os&is 2434l 3,000,000& 3,000
202 O Hl 2,160 2,160 0
01 =L bl 2,160 2,160 0
= 0l & 2,160 2,160 0
OBNUSIHE Q2= o]
20,000 *3Y »3 x 12 2,160
HEMHMIMNE =X 112,109 0 112,109
201 LBt y| 14,800 0 14,800
01 AtR2Z2lYl 14,800 0 14,800
= 0ff &F 16,760 0 16,760
OHFMA HE =8 222 M= 14,800
— I AH 3403 *10,0000H 3,400
— 89 33,0002 *1000H 3,300
— X-ti 27,5003 *400H 1,100
—clEA 1403 x50, 0000H 7,000
OREA HHHAGESARS 59 49
70,000 x14H %23 1,960
=313 ( 14,800) 16,760) | ( A 1,960)
OREA BEHANESAVSE 319 42 02 |( 0) 1,960) | ( A1,960)
207 Ao 97,309 0 97,309
01 etpgay 97,309 0 97,309
=213 ( 97.309) 0)| ( 97.300)
OREA HHSXME D24 U G
AN HFAES 19,817,0002 | ( 19,817) 0)|( 19,817)
OSEA BAS(HHZNME S4) AR
2ot HAREH 77,492,000& | ( 77,492) 0)|( 77,492)
NEotdy &2 10,990 10,990 0
AN as 2e 10,990 10,990 0
201  Let2g| 10,990 10,990 0
01 AtR2e2ldl 10,990 10,990 0
= 0l & 10,990 10,990 0




SN

B NrioiE sH(LUBBUD/AUBE)
G XYooty &2 (CHe &)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
OO 5 XNGasERX =44
7,000 x3H *190 3,990
OXgxIote s 24 7,000,000& 7,000
D2t &243) 540,447 442,065 98,382
== 5,552
Al 534,895
APSICHR S92 23 514,647 433,665 80,982
== 5,552
Al 509,095
201 282 HH| 11,200 10, 150 1,050
01 Ar®2te2lbl 1,400 7,650 AN6,250
= 0l & 1,400 7,650 N6,250
OASISHH S SHAIXE SAH|
7,000 x4 x53| «»10& 1,400
03 A2 9,800 2,500 7,300
=0f &t 14,000 2,500 11,500
O=2002sH4A /3s& 7,000,000& *23] 14,000
=Z13 9,800) | ( 14,000) | ( A4,200)
O=302sHX /38 9,800,000 9,800) | ( 14,000) | ( A4,200)
301 oty Al 16,639 1,050 15,589
== 5,552
Al 11,087
02 stk 11,104 0 11,104
== 5,552
Al 5,552
= 0l & 11,104 0 11,104
== 5,552
Al 5,552
OFA~d sy ASIZ(MOISXNEZ X XHH)
1,388,000& «8H 11,104
== 5,552
Al 5,552
09 AIAHIEAZ 5,535 1,050 4,485
= 0] & 7,050 1,050 6,000
OALSI SHl A S HIOLA S4AH|
7,000 *x3H x55| 10 1,050
O=p2snH A3s SA
10,0002 *600H 6,000
=313 5,535) | ( 7,050) | ( A1,515)




SN BOASD
M TXGY YSH(UNDTHY/LBHET)
Sl pIREE Eaa (2@ 8)
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OMBIEH A S FIHX S|
735,000 |( 735) | ( 1,050)| ( £315)
OR02SoH A3a A6 4,800,008 |( 4,800)| ( 6.000) | ( A1,200)
307 gI2tolE 486,808 422,465 64,343
02 BIHTHAYRE 291,063 291,063 0
= 0l & 291,063 291,063 0
ORd  UELNIHKKAHE A bl
40,000,0002 40,000
OSEAMOIZE Al 29,086,002 129,086
oHtEHalI2E SHAMYAS Ay
40,449,0002 40,449
OBZNREHY LHAXE Areit|
33,302,0002 33,302
OXS BSOS ALl
48,226,002 48,226
03 QIRbEHY 195,745 131,402 64,343
= 0 4 195,745 131,402 64,343
ORd  EUNIHNAHE 2|
20,000,000% 20,000
ERIEE 1! 146,043
S 3 AM 48,681,0002 48,681
— 2 & N
32,454,0002 32,454
— 2R SEAIK 8
32,454,0002 32,454
~-TeiEs 32,454,0002 32,454
ozgesdH RS
158,500 *122 1,902
O2V2SCHA (B2HAIN) T
27,800,0002 * 1CH 27,800
225 2435 25,800 8,400 17,400
201 Yur2YHl 5,800 8,400 A2,600
01 At el 5,800 8,400 A2,600
=0 4 5,800 8,400 £2,600
OREAINL HolglE g
70,0002 10 *43] 2,800
OJwes # 3,000, 0002 3,000
207 RNyl 20,000 0 20,000
02 ®&feyl 20,000 0 20,000
= 0 4 20,000 0 20,000
OJI% EHOIX 25 20,000,000 20,000




SN HHASD
M R Y Y

% UsH(YBBTUE /L)

9 S ARE =X (29 ma)
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
SAHE =X 9,600 9,600 0

= 9,600
thgstd) 2Ms@ TaiA X 9,600 9,600 0
= 9,600
301 LerEa3 9,600 9,600 0
= 9,600
11 JIEtE& 3 9,600 9,600 0
= 9,600
= 0l & 9,600 9,600 0
& 9,600
ogagd) 2= Holod 22X X
e 9,600,000& 9,600
= 9,600
EHSEXNASE (MISX/HSAHSTA) 157,641 414,343 A 256,702
= 49,162
= 0
Al 108,479
NAAE SXALY &8585 157,641 414,343 A 256,702
= 49,162
= 0
Al 108,479
N2SAEEH 24 58,850 409,343 A 350,493
201  etI| 50,700 0 50,700
01 AtS2eltl 10,420 0 10,420
= 0l & 10,000 0 10,000
Ogt=2H| 40,0003 x7H x 123 3,360
Os ALt s 250,000& 123 3,000
ORoZH E2H| 55,000& «12& 660
OXNJSAMEEYH 2ZAF &Y
70,000& 7 23| 980
OXNSSAHHE E2XHE 500& *4,000%& 2,000
=313 ( 10,420) | ( 10,000) | ( 420)
OXNJASAMLAE HRFX SAH|
7,000 +6H x22 x52 | ( 420) | ( 0)|( 420)
02 2229l 12,560 0 12,560
= 0l & 12,560 0 12,560
OREEYS 300 *1000H = 12& 360
O&S = (SMSes) 70,000 «5CH 123 4,200




SN

FHASH

H: HHEXNASE(MEEX/HASHESAA
©@2 NEMISAAY 24535 (CHe &)
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
OB222(FJ122, otz 225)
330,000& x12& 3,960
O&Heo =5 30,000& *13] 30
OX&E S AAE XS X H] 3,290,000& 3,290
Ost=2AASAIAEHE S A3l
720,000& x13] 720
03 AIRHH| 27,720 0 27,720
= 0l & 31,920 0 31,920
OFAHE 1Y 3652 29 2,000,000& 2,000
OFAY D& SAIE 2d9 2,000,000& 2,000
OJIESAIHY 2322 250,000& = 12& 3,000
OXSAts0otel &4 3 200,000& =10& 2,000
OAMS H=2 &S 200,000& =10& 2,000
OMIAE EHSAES 300,000 x7& 2,100
ONSSAIHY 249 300,000& *10& 3,000
OXNEESAA s ZAS 200,000& *253| 5,000
OHF=XNHE NESAH &Y 2,220,000& 2,220
OXNESAI HESRZA 43 4,000,000& 4,000
OXJASAXL & J184A 29 4,600,000 4,600
=Z13 ( 27,720) | ( 31,920) A4,200)
OdA~YE 14 365 29 1,400,000 |( 1,400) | ( 2,000) A600)
OALEf &2 & 1,400,000& |( 1,400) | ( 2,000) A600)
OXNIASAH HERZA 45 1,000, 000& |( 1,000) | ( 4,000) A3,000)
202 04| 1,800 0 1,800
01 2L 1,800 0 1,800
=Z13 ( 1,800) | ( 0) 1,800)
OXJASAIEE YRFE |
20,0002 »6H x3 x5& | ( 1,800) | ( 0) 1,800)
301 ot A= 5,750 0 5,750
11 JIEIE A2 5,750 0 5,750
= 0l & 5,750 0 5,750
ORLSANA A& 50,000& *115H 5,750
405  XHaHFE S| 600 0 600
01 MM =SSFHSH 600 0 600
=Z13 ( 600) | ( 0) 600)
OSMAICSI 2H| 600,000 | ( 600) | ( 0) 600)
M= S8 NFEANEE I AMHlA K& 57,108 0 57,108
= 28,554
Al 28,554




fH: BHASH
H: HOASXNYS(MIAEX/HAAHNSXE)

©@2 NEMISAAY 24535 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
301 ot A= 57,108 0 57,108
= 28,554
Al 28,554
11 JIEIE A2 57,108 0 57,108
= 28,554
Al 28,554
= 0l & 57,108 0 57,108
= 28,554
Al 28,554
OXNESALA dolEE I X
57,108,000& 57,108
= 28,554
Al 28,554
ANJASA 2COUOIH X -4 41,683 0 41,683
2 20,608
Al 21,075
101 jSlals] 41,683 0 41,683
= 20,608
Al 21,075
04 JIZtHZ2Z2XNSE =+ 41,683 0 41,683
= 20,608
Al 21,075
= 0ff A 41,683 0 41,683
= 20,608
Al 21,075
OXJSA ZCOUIOIH JI2ZtMIZ2 A+ o1 A
ul 38,053
EAR=1 1,502,180 x2H 128 36,053
= 18,026
Al 18,027
—gEAMNNZ 500,000& *x2H 1,000
= 500
Al 500
— EXEE 500,000 *x2H 1,000
= 500
Al 500
OXJSA ZCOUIOIH JI2ZtMZ22 X 28
= 3,630

_10_



fH: BHASH
H: HOASXNYS(MIAEX/HAAHNSXE)

CHel NAAMESAY 2435 (el d )
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
—=00u3 36,052,3202 *45/1,000 1,623
= 812
Al 811
—ALLEH 36,052,320 +30.6/ 1,000 1,104
= 552
Al 552
—LOR)QATH
1,103,2002 +65.5/1,000 73
= 37
Al 36
- 1828 36,052,3202 %15/1,000 541
= 181
Al 360
— A THEE 36,052,3202 *8/1,000 289
U2A HSIRE 29 A 0 5,000 A5,000
[
Al
307 QIztol™ 0 5,000 A5,000
[ 0
Al 0
02 QIZtFAAIRE X 0 0 0
[ 0
Al 0
2 0il A 5,000 0 5,000
[ 2,500
Al 2,500
OXEN WsSIIRE 29 5,000,000% 5,000
[ 2,500
Al 2,500
=313 ( 0)( 5,000)] ( A5,000)
(= 0) 2,500) A2,500)
(Al 0) 2,500) A2,500)
OXSEN HSIIRE 29 0 [( 0) 5,000) A5,000)
(= 0) 2,500) A2,500)
(Al 0) 2,500) A2,500)
H(LHTTHEY/LYAHY) 7,240 6,820 420
= 5,000
Al 2,240

_11_
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SA BHAED
. IR (LerssEH /YL AH22])
el BN =X CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
308 XXEHHMSO0IH 258,825 0 258,825
11 JIEtRg32 258,825 0 258,825
= 0l & 258,825 0 258,825
ON72 8=2sAXNYEH &6 X AA &
H XYM 23 258,825
— 2L HAAE 87,026,000& 87,026
—SdHeHAAE 85,955,000& 85,955
—gaHe S 85,844,000& 85,844
HY2AZH (RO ASH)(IIEH/IIEL 333,833 45,120 288,713
Jl23 4l 52,740 45,120 7,620
JI23l 52,740 45,120 7,620
201  et2g| 21,180 17,880 3,300
01 At 2eltl 20,520 17,280 3,240
= Off & 20,520 17,280 3,240
ORM2Z Jl2Zt| 20,520
— B2l 40,0002 x19H x12& 9,120
— =24l 50,000 x19H x12& 11,400
02 2294l 660 600 60
= Ol &t 660 600 60
oEea 55,000& «12& 660
202 O dl 27,360 23,040 4,320
01 2L HI 27,360 23,040 4,320
= 0l & 27,360 23,040 4,320
OgRF& JI20dl 120,000 x19Y «12& 27,360
203 YR F&Hl 4,200 4,200 0
04 EN2EAHARFAHI 4,200 4,200 0
= 0l & 4,200 4,200 0
ORA2ILRF=LH 350,000& 123 4,200
ol 2 gl 281,093 0 281,093
ol 24| 281,093 0 281,093
101 ol4d| 281,093 0 281,093
02 JIEtAE 281,093 0 281,093
= H SO0l 281,093 0 281,093
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